
Name:

Super Teacher Worksheets - www.superteacherworksheets.com

Lattice Multiplication
3-Digit by 3-Digit Lattice
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Find 145 x 415
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145 x 415 = 60,175

Step 1:   Write the numbers you are multiplying along the top and side of the grid.
Step 2:   Multiply the single digits on the top by the single digits on the side to fill in the squares.
Step 3:   Add diagonally to find your answer.
Note:     When adding, you may have to carry double digit sums to the next place.

Solve using lattice multiplication.

Answer:
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Find 561 x 321.a.

Answer:

Find 245 x 432.b.
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Answer:

Find 384 x 267.c.

Answer:

Find 668 x 695.d.

Answer:

Find 423 x 802.e.

Answer:

Find 596x 365.f.
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145 x 415 = 60,175

Step 1:   Write the numbers you are multiplying along the top and side of the grid.
Step 2:   Multiply the single digits on the top by the single digits on the side to fill in the squares.
Step 3:   Add diagonally to find your answer.
Note:     When adding, you may have to carry double digit sums to the next place.

Solve using lattice multiplication.
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Find 245 x 432.b.
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561 x 321 = 180,081
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245 x 432 = 105,840
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ANSWER KEY
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Answer:

Find 384 x 267.c.

Answer:

Find 668 x 695.d.

Answer:

Find 423 x 802.e.

Answer:

Find 596x 365.f.
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384 x 267 = 102,528
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668 x 695 = 464,260
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423 x 802 = 339,246
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596 x 365 = 217,540
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